Big Eagle Railroad Puzzle Description

Narrative:
You are the engineer of a GP 38-2 locomotive on a small short line railroad dedicated to switching a coal mine and power plant.  The power plant customer has just ordered 10 coal cars to be unloaded at the plant.
There are 2 hoppers in the coal yard already loaded. These take priority, and must be unloaded first. You will be expected to shuttle the empties to the mine to be loaded, and spot the loads for unloading at the power plant.
Due to the geography and tight constraints of the small yard, you will have to do several run-arounds in order to get your cars to and from the mine and the plant.

Therefore, you are limited to the number of cars that can be moved at one time. Additionally, due to its height, the locomotive cannot go past the clearance point at the coal tipple.
The Rules:

· The Mainline has an unlimited capacity west of switch X. However, there is only room for 4 cars between switch X and switch Y on the main.
· Mainline Siding has a capacity of 4 cars.
· Spurs A, B, C and D have a capacity of 5 cars each.
· Spurs U and L have a capacity of 4 cars each.
· The lead between Switch Y and the clearance point on the coal tipple has a capacity of 4 cars plus locomotive.
· The lead between Switch Y and Point Z has a capacity of 4 cars.

· Locomotive must be uncoupled from any cars being loaded or unloaded.

The Puzzle:
As soon as possible, Pick up Cars 1 & 2 and Set out at power plant for unloading.
Pick up cars 3 through 16 and Set out at the mine for loading. (Hint:  4 at a time)
Set out 8 additional loaded cars at the power plant for unloading. (Hint:  4 at a time)
Set out balance of loaded cars from mine in the yard.
After cars 3 through 16 have been loaded, empties pulled from the power plant unloading track should be Set out in the yard.
Upon completion, no cars are to remain at the mine, and the siding and the mainline must be clear.
